Parts Breakdown

Item 11426

c1701

gi::;\ P 6893

P 4480A

—B 6082
Ej\ R 1071

— D 5658A

R 6836 C 7206
V6O661 | 2420A
M7017 - S 7553
l F 3024 7
P 8627 —C%
R6512

D0133 B 7821A

P 4654A

B 1819A

C6612




Parts Breakdown

Item 11426

Item No.
19605

19498

60301

36557
AK403
19627
19518
36585
19531

20460
16928
19639

Description
Ring 16 for 11426

Rod Tray for 11426

Body for 11426

Bushing DU 25x28x30 for 11426
Bushing DU 25x28x20 for 11426
Bushing for 11426

Handle Arm for 11426

Cellophane Paper mm.100 for 11426
Base for 11426

Shaft for 11426

Nut U5589 M6 for 11426

Nut M8 for 11426

Position

A5445

B1304

B1819A

B6021
B6056
B6082
B7821A
C1701
C6612
C7206
D0133
D0135

Item No.

64363

19551

36685

19581
36720
17378
68783
19833
19843
36866
19858
36870

Description
Nut Din 917 M10 Inox for 11426

Foodholding Spacer for 11426

Clasp Arm for 11426

Handle for 11426

Gear DP50.00 Z20 M2.50 for 11426
Spring Inox 8 6x0 8x23 for 11426
Tray Assy for 11426

Flat Bar for 11426

Meat Grip Assy for 11426

Release Button for 11426

Paper Holding for 11426

Food Holding for 11426

Position

D013615

D5658A

F3024

11913
12420A
M7017
P4480A
P4654A
P6893
P8627
R1070
R1071

Item No.

16967

36885

AN091

17462
36925
17474
36987
19691
19917
37110

Description
Washer U65926 for 11426

Washer U6592 10 Stainless Steel for
11426

Washer Spec.Rasam.Ram24
(17x24x0.5) for 11426

Washer 8x25x4 for 11426

Pin M.E.U6875 5x24 for 11426
Pin M.E U6875 6x36 for 11426
Label for 11426

Grub Screw M6x6 for 11426
Screw BS for 11426

Screw Speciale M10 for 11426

Position

R6512

R6530X

R6836

R6869
S7549
S7553
T1675
V6066
V7960
V8074



